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Note: Answer1a;'Y;FIVEfull questions, choosing onefull questio",Jtw each module.
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V;"(\ \'0 Module-l (0~.

1 a. Define data structuA!s,GJve its classification, ((:,~.':,,:'!j
b. Defme structures wi~~'r.nple. ~ i(?
c. Define pointers. Give'M.YA9~gesand disadvantages ofIStint/r.rs,

( '\ \ ,-> «:'0,~ .
'\ ...i;:=''\\ OR~~j

2 a, Write a program to (i) reve~~'-;string, (ii) concat~~)wo strings,
b. Explain dynamic memory allo~tiQH)n detail. ;;-::--~.j\5..-:::/ >~I) ,

c~;~MOdUlt?l\-.--
3 a, Defme stack. Implement push and ~~Ju~'iQris::for stack using arrays.

IY'- ','b. Write the postfix form of the following'exp~ysslOn:
(i) «6 + (3 - 2)*4)15 + 7) (ii) A $ t$ C * 0

l"~" \,J"> ~-:I
.~_':o>. //
<.,sORv C\

4 a. Defme queues. Implement Qinse ~~delet£:fi~~!ion for queues using arrays. (08 Marks)
b. Defme recursion, Write recursive ,t. ram for (i)(f!~~rial of a number, (ii) tower of Hanoi.

(,.),1 ~~. r) \ (08 Marks)
/";"'--'" (~"..,/

/"-: lv' \ :<) .-,
(( () Module-3 '~~.::-?'\

5 a. Write the following fufl)Zf19ris:forsingly linked list: tift<,e:>erse the list
two lists,::::-: 1../) t';:;'

b. Write functions insert4ffb~i../anddelete_front using doubIY'li~f~9)list.
-;....1 \;-, ;:-,

(? ' )II-/V :
6 a. Write an algOrit~~,~dd two POlynOmi~~ \::'~3> (08 Marks)

b. Defme sparse i!,i<t4ii: Give sparse matrix representation of linked iist~ given matrix. ', ~
1,,,-::;00400 ~~,
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I/"~ Module-4 (\'-,\'\>r ;..., \~r;
7 ~;..-.:;Wh!s a tree? Explain :' ~)

<~ Bmary tree \~_/:
ii) Strictly binary tree
iii) Complete binary tree
iv) Skewed binary tree

b. Given inorder sequence: DJGBHEAFKIC and
Construct binary tree and give preorder traversal.

10f2

(06 Marks)
(04 Marks)
(06 Marks)

(08 Marks)
(08 Marks)

(08 Marks)

(08 Marks)

(ii) Concatenate
(08 Marks)
(08 Marks)

(08 Marks)
postorder sequence: JGDHEBKIFCA.

(08 Marks)
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